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Recall that

PIEL F Plt
PCF

If F doesn't affect EIF then

p EIF PIE and we say that E F

are independent events

This mean that PIEI F PIE PIEF
pi

PlEFl PlE P
Independence

Definition E and F are midpendrut events

if PIEF PIE P F

If PIEF t PCE PCF then E F are dependenteunts

Example Roll 2 dice
E sum is 6
F die 1 is 4

PIE 536 REF P I Iz 6
Pl F 16

PIE PIF If f 2,56 f PCEF 436

E F ar net independent they are dependent



Example G sum 7
F die l is 4

PIF Plea PII Yue

p G 436 46

P F PIG 436

p FG P F PIG F G ar independent

We can also say

Proposition 4.1 If E F ar independent then so
an E and F

PIE PIEF t PIEF

PIE PIF t PIEF

PIEF P E PIE PIF

PIE l P F

PIE P F E F ar indpendent

Question If E F ar independent and E 6 are independent

is E independent of the event FG

Example Roll 2 die

E sum is 7
F first die is 4
G second die is 3



From the previous example PIEF PIE PIF
PIEG PIE PIG

P El EG L PIE 46

Definition The events E F G an independent if

PlEF6 PIE PIE PIG

PfEFI PIE PLF

PIEG PIE Pla

P FG PCFI PIG

If these conditions hold then E is independent

of any
function of F 6 I E E and FG an

independent

Example Toss a coin N tires the outcome d each

toss is HF and independent of all other tones

Each toss in this example is knaowu as a trial
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